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Question Number : 1 Question Id : 5244764801 Display Question Number : Yes Is Question Mandatory :

Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The word ‘Statistics” 1s used as:

'HETPOTPEN @ D0 WEF SABTHOI2ICREROE:

Options :
1. Singular
BV INT PN o
1.
2. Plural
22000VITI0
2. %
3. Both
;v OO

4. None of the above

a3 520

Question Number : 2 Question Id : 5244764802 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The variable “Gender™ 1s variable.
305 “O0fio” 9O FE50.
Options :
1. Discrete
§)E§J§
1. ®

2. Continuous

Lo QoS
3. Ordinal
L B98O

4. Nominal

v 0% €50



Question Number : 3 Question Id : 5244764803 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If “a’ 1s actnal value and e’ its estimated value. the absolute error is

2 P QENS DBAIN ‘e’ TR LIOTIT® DEN AN, N0 S0

Options :

1. a-¢
1. ®

2. la-¢
2.

3. (a—e)e
3. %

4. la-¢|l/e
4. %

Question Number : 4 Question Id : 5244764804 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Data taken from the respondent directly will be considered as

DBTE QOB T 30BN BEFTT HOHES0I2CB0A

Options :

1. Primary data
Lo O Ter

2. Secondary data

8048 Ber

3. Simple data
L x OO ey

4. Dernved data
€565 335) S TEF®



Question Number : 5 Question Id : 5244764805 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following represents data?

80A 73S DO BEFD AFDN0E?

Options :
1. asingle value
- 2,8 DeND
2. only two values in a set
. S &S’ BO NN S35
2.
3. agroup of values in a set
DASBETR) DENIE N0
3. ¢
4. None of the above
Lx DI TCY

Question Number : 6 Question Id : 5244764806 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In usual notations of sampling. the formula for sampling fraction 1s

Q50T ABNE), TS DOBTETOS’, e £)ed) 0 BN, AFHO

Options :
1 N
1. ® "
3. &
2.¢
N
3 12
3. % "
T
4 15
N



Question Number : 7 Question Id : 5244764807 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Stratified random sampling comes under the category of
IS DGR O IE Sedrwe 3OO0 0B N0
Options :

1. unrestricted sampling

i 29AONO(E365 oA
1.
2. subjective sampling
- €385°|F AN ded”
3. purposive sampling
» SOFoYB 58 S
4. restricted sampling
i NEOES S

Question Number : 8 Question Id : 5244764808 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Simple random sample can be drawn by using

PO OPHTINE AedTTmre C5eA3rH0dS0 e fo° (<X
SRIOWINIRVY
Options :

1. Random number tables

OSSO NE oW HE3Een

1. #®

2. Roulette wheel

,x O8O HE0

LS ]

Lottery method
eredd HDeY

3. %



4. All the above

4. ¢ ?_J:fk%&

Question Number : 9 Question Id : 5244764809 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The errors in a sampling survey other than the sampling errors are called
QHSOTE® €559 )0 SPEV0T SOS DV 59 559N e90EFED
Options :

1. Formula errors

e Oer Saren
2. planning errors

- DT DE Saren
3. non-sampling errors

Lo e 5 Sare
4. standard errors

L rresy Saren
4.

Question Number : 10 Question Id : 5244764810 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the number of population units N 1s not an integral multiple of sampling size n, the
systematic sampling 1s called

2300°25° AL DO N edr” B30 1 A30E); el MEIs*O0
5563, | 560D ST 0TS
Options :

1. linear systematic sampling
NS |Be0D Sl



2. circular systematic sampling

AL TN EATR IR VNN IN Wiow

2.9

-

3. random systematic sampling

O VA RTA R TE VMO S N EN N Wicvs

4. all the above

25Q)

Question Number : 11 Question Id : 5244764811 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The range of the probability value is

QOZT05EH )N OO
Options :
1. Oto1

2. Dtoao
3. -1to1

4., -otow

Question Number : 12 Question Id : 5244764812 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Classical probability 1s also known as

STEO D0ZTI§EH 29 5573 @90ET D

Options :

1. Laplace’s probability
3 0000 ABNEY DO2Fses



2. priori probability
SN0 HOZFI 5%

2. %

3. mathematical probability
- feded Doy sed

4. all the above
4. ¢ Eﬁjag‘

Question Number : 13 Question Id : 5244764813 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If A and B are two mutually exclusive events. the probability of occurrence of two
events simultaneously is

DB B DO DSBS QIBDEEID 000N e900ES, BOCRH
HOSNEISEN DEF0CS” DOZNOT Ho2rseh

Options :
1. p(A)p(B)

2. p(A)+p(B)

2. %
- 3.0 40
) 4. p(A)-p(B)

Question Number : 14 Question Id : 5244764814 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If A and B are independent events. the probability of occurrence of either A or B 1s
A 00050 B 9 5650(65 00NN @ONE, A BT° B D0ZIN0T 023565

Options :



1. p(A).p(B)

2. p(A)+p(B)

4. p(A) +p(B) - p(A).p(B)
4.

Question Number : 15 Question Id : 5244764815 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If B — A. p(A/B) 1s equal to
B C A @03, p(A/B) SN INNTe

Options :

1. p(A)p(B)
2. pB)pA)

Zero

L

Lo 4. One

Question Number : 16 Question Id : 5244764816 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A time series analysis helps to

DA (3€3 DFAED DIFONDCEREROE

Options :

1. understand the behaviour of a variable in the past

Ke5065 S8ANS TB0E), (6395 @0 TOF0S



2. predict the future value of a variable
JBCH20S T30E) DAL DI 0TI FONOGB

2. %
3. plan the future operations
25D 5B 5EETAOIN oD OO
3. %
4. all the above
s TR
4. v

Question Number : 17 Question Id : 5244764817 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A component of a time series attached to long term variation is termed as

AY5OE IR0 2500 DO (B3 T 28 250

90erd
Options :
1. cyclic variation
HEAH IS0
1. ®
2. Secular trend
805> B3
2.¢ -
3. Trregular variation
. 1Bo0E5ed S50
3. -
4. random variation
ADHINE BRSO
4,

Question Number : 18 Question Id : 5244764818 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Cyclic variations are caused by

80D SATEEN 0 £0° EenMHEron

Options :

1. Earthquake in a country

2,8 D306 25578000

12

Lockout in a factory

) % 88 erTES

LN ]

Floods 1n a country

2,8 TH0S HBGBeD

4. None of the above

esad 570

4. v

Question Number : 19 Question Id : 5244764819 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the slope of the trend line 1s negative, it shows

B0E B TINEY, TN [DBBTOOM 50T, €& BRI
Options :

1. rnising trend

2BDES) S

2. declining trend

8,630y E38ed

2.¢

3. stagnation
0ed

4. Any of the above

B0 BERS



Question Number : 20 Question Id : 5244764820 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

To which component of the time series. the terms prosperity. recession and depression
are involved?

500D 1FEISTQ & X TRE, (BAHNY, 37050 DO DTS €9 TN
S 0N?
Options :

1. Seasonal variation

. 57N JDQ 50
1.
2. Secular trend
L w8500 &35
3. cyclic variation
v HEAH BAS0
4. random variation
) AST))E S50
4.

Question Number : 21 Question Id : 5244764821 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The headings of the rows given in the first column of a table are called:

HEIEESTR) TEHES Q6 IEDNET Q69529 €9CD 55%500e> 2OZeN

90T :
Options :
1. Stubs
o 9D

2. Captions
SHTISIIN



3. ]'EfEl‘E‘llCE notes
A B e

4. Titles
DS

4.%

Question Number : 22 Question Id : 5244764822 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A frequency distribution can be

(DB DODES SN
Options :
1. discrete
L% Q&)ﬁ
2. confinuous
) % Mlelelile)
3. Both

;v OO

4. None of the above

XD0) LY

Question Number : 23 Question Id : 5244764823 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Data which is collected from the published source is

DTNOO0TIDED 0570 0B DEBODN T3y [l

Options :

1. Primary data
1 o L@‘T:ﬁ;}jé



2. Secondary data

S v 8088
3. Simple data
- 08

4. Dernived data
€565 300) DO

Question Number : 24 Question Id : 5244764824 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is a one-dimensional diagram?

2806 33 DO 2.8), BIHODIS D) e50?

Options :

1. Pie diagram

e 2 DI 50
2. Bar diagram

L v D Dgrd&o
3. A graph

=,

. 2.8 M
4. Cylinder

PR Dol e

Question Number : 25 Question Id : 5244764825 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Histogram 1s used to find graphically.

TS ENFRNEVE T UT0 GO A0I20E0E.

Options :



1. Arthmetic mean
L% 2908He3ed Hje

2. Median
VALY

Mode

Ld

4. Variance
SISO

Question Number : 26 Question Id : 5244764826 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Mean 1s measure of

HEED @®OT) &°0yeh

Options :

1. location

"0
1.+
2. dispersion
2. % )

3. Correlation
- NI TerAlelnlel
4. association
OO0

4. % ‘

Question Number : 27 Question Id : 5244764827 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following represents median?
806 ¢35 O QIR AEDIDOE?
Options :

1. Second quartile

. BOChd 5500
2. 50™ percentile
5060 €50
2. %
3. 5™ decile

4. All the above
FRSE)

4.v

Question Number : 28 Question Id : 5244764828 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the grouped data has open end classes, one cannot calculate:

DI TEE® 25030 DO& T EOR 50D, S38) 0B N%:
Options :
1. Median
SVAIY
1. #
2. Mean
ONED
2.9
3. Mode
e 6

4. Quartiles
5589)

4, %



Question Number : 29 Question Id : 5244764829 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If all the values of a data set are same. the variance is

T3E ED TBE), €9 DENIEN 2,3 GOTY, FDDSO

Options :
1. One
2. Positive
22635
2. o . a_J O:'
3. Zero
.
3.9 ol
4. Negative
1De3dTed
4. % -

Question Number : 30 Question Id : 5244764830 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The First quartile is also known as

S0AE3 50O Q) S 90L&

Options :

1. Median

2. upper quartile
DD 5° 50O

3. Mode
w6



4. lower quartile

8003 5°$DO

Question Number : 31 Question Id : 5244764831 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sum of the deviations about mean of the data 1s

TET DN HBOD IO JNEBO

Options :

1. One
1. @ ajéeg

2. Minimum
2. % é{g\\]&ﬁ}

3. Zero

3 el )

4. Maximum
glarete

Question Number : 32 Question Id : 5244764832 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Sum of the absolute deviations about median of the data is

T3ET S0EED0 HOODD DO DI BNEHO .
Options :

1. One

2. Minimum

523

2.¢



3o LET0

3 % adad®)
4. Maximum
L% (B0

Question Number : 33 Question Id : 5244764833 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The formula for Co-efficient of variation is
SO TBNE), DeT-enPed Q50

Options :
1. £.V= %X 100
1. ¢
2. ¢.v=%x100
2. % ?
3. C.V= Mf'f;““x 100
3 % o
4.C.V = Mffx 100
4. % h

Question Number : 34 Question Id : 5244764834 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The correct relation between variance and S.D of a variable X 1s
HETE X O30, 23650 s0BAN S.D NG OB S0D0G0
Options :
1. S.D=Variance
w SD =050

2. 8.D = +jvariance

S.D=VIDP50



3. S.D = variance?
s w S.D = JDP0?
4. variance = +5.D
S50=(S.D)
4, %

Question Number : 35 Question Id : 5244764835 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the measure of dispersion ensures highest degree of reliability?
55 ABNEY, FOSOS D 968508 0N ¥ SOADEBR AT BNOE?

Options :
1. 5B
1.v
5 % 2 )
3. Range
3. % Nl
x 4 M.D

Question Number : 36 Question Id : 5244764836 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Bernoulli distribution. the relation between mean and variance is
23571 O HODEBES’, HHEN HOA 358380 0§ DoDOB0 .

Options :

1. Mean = Variance

VAT TR,

2. Mean #Vanance

A £B VS0



3. Mean > Varnance

DR > VS0

3.¥

4. Mean < Variance

DS < B0

Question Number : 37 Question Id : 5244764837 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If Mean = Variance. the distribution is:
DS = NSO OB, HONES

Options :

1. Bemulli distribution

e BA0) O HoNEB
2. Binomuial distribution
AR Do
2.
3. Poisson distribution
» DPONBD HODES
4. Hyper geometric distribution
2700 Drieded HODES
4, %

Question Number : 38 Question Id : 5244764838 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The MGF of Binomuial distribution 1s
B 5D HONES 308y, MGF

Options :
1. Gq+pe')®

1. #®



2. (q+pe)™

3. (gtpe) ™

3. %

4. (q +pe)"

\.‘{}

Question Number : 39 Question Id : 5244764839 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The variance of a Geometric distribution variable is
Dartieded HONED 3B0H2NS T3NE), IS0

Options :
1. np

1. #

2. npq

I_,,J

. 3 alp

; 2
v 4. q/p

Question Number : 40 Question Id : 5244764840 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mean of Negative Binomial distribution 1s
(3557 & 3¢5 HONES TINEY ONED

Options :

- 1. np
5

2% e
3. rq/p



e Ara/p?

Question Number : 41 Question Id : 5244764841 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

F — distribution was invented by
F - HODBD o) &
Options :

1. G.W. Snedecor
23.¢52005. Q) 38O

1. ¢

2. R.A. Fisher

, €30.0). RO
3. W.S. Gosset

3 W.S. 708
4. Laplace

) DA

Question Number : 42 Question Id : 5244764842 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Normal distribution. the value of kurtosis (52 ) 1s

A Sea HONEFET, EoO R (B2) Dexnsd

Options :
I. 3
1.¢
2.0
2. %
3. always positive

DY) FTPNETEOOMT T5OENOE



4. always negative
DDA (DB O GOLNOE

4. %

Question Number : 43 Question Id : 5244764843 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If f2 =3, the curve is called
B2 =3 @900, HEDD D E0ETH

Options :

1. Meso kurtic

SHAF K008
1.v
2. Platy kurtic
>¢3 %08
2. %
3. Symmetric
4. lepto kurtic
S K008
4. %

Question Number : 44 Question Id : 5244764844 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The sum of two independent Normal variates follows
DO O 5eH0(eh PO BT B0 (80 DO GOd
Options :

1. Gamma distribution
T DO

]

Exponential Distribution
DB IFTIANSD B VATLAD



3. Beta distribution
DEF HODD

4. Normal distribution

Ly TrOE HORES

Question Number : 45 Question Id : 5244764845 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The range of t — variate is
t - variate G308} DOE

Options :

1. Oiol
1. %

2. 0tooo
2. %

3. -w0to®
3. ¢
L% 4. -1to1l

Question Number : 46 Question Id : 5244764846 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the appropriate formula for Z score.

Z 5.0 §00 5 N7 DONTOR.

Options :
1. z=—F
1. ¢ “
2. z=2t
2. % g

(]
|

o

¥

|:||I

=
St

[



Question Number : 47 Question Id : 5244764847 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The relation between mean and variance of y>-distribution is
P2-00368 T30E) HEED SDBSN 23890 05 D000
Options :

1. Mean= 2 variance
D= 2 H5ETE N0

1. %

2. Variance = Mean / 2
- SRF0 =MD /2

3. Variance =2 Mean

RS0 =2 DR
3. %
4. Variance = Mean?®

L BP0 = e’

Question Number : 48 Question Id : 5244764848 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Any function 1s derived from the population 1s called
23072 DO &65)05) D DBV NOE.R 0L

Options :
1. sample

L NNV

2. parameter
DTED



-

3. statistic

(ETOT e
3. %
4. standard error
e SHO
4,

Question Number : 49 Question Id : 5244764849 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A part of the population is
ATV O 2.8 230

Options :

1. sample
Ly

2. parameter
DT ES
2. %
3. statistic
- (ETOS N
4. standard error
L raredd S0
4,

Question Number : 50 Question Id : 5244764850 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Estimator and estimate are
90T AT D SO 90T DOCD

Options :
1. same
1% S8



2 parameters

TP EREN)
2. %
3. different
v 2)e5) S
4. none of the above
. Aade) 5N
4.

Question Number : 51 Question Id : 5244764851 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If a statistic 1s used to estimate a parameter. then it is called
DT 0TI DONTFTRE (e 080 5 dBTFAOIIEONS, T3
0.

Options :

1. Estimate
. 90THD"

2. Estimator

2. \‘-‘._.i-"? @@3}@6
3. statistic
(ETOTTeN
3, %

4. standard error

Brdreds S0

Question Number : 52 Question Id : 5244764852 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The standard deviation of the sampling distribution of a statistic is known as
BET 080 TRNEY NTR® DONES TBVEY, [5T°e0°e3E DTIOS0 0T

Options :



1. Sampling error

N g ol
| w RITD° O DO
2. parameter
) DTEY
3. statistic
HETPOTPEN
3 %
4. standard error
Ly eSS &S00

Question Number : 53 Question Id : 5244764853 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following distribution will be used in ANOVA?
ANOVAES' 808 7e365° DO es0TBrA0s20e00?

Options :
1. Student’s t - distribution
DT°s0 ABNE), t— HONES

1. %
2. F-distribution
L F-0€Ed
3. Chi-square distribution
=5 A =
Lk D050 HODE
4. Normal distribution
i} 5 HODES
4.

Question Number : 54 Question Id : 5244764854 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The distribution y7 is equivalent to the distribution
HODES x2 DODEIE HRATI0




Options :

B,

4. Fi,

Question Number : 55 Question Id : 5244764855 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following empirical relationship 1s true?
806 365 DA 2R ©2TVE HD000?
Options :
1. Median = 3Mode — 2 Mean
QAA50 =336 - 2 DR

1, %
2. Range = 3 Mode- 2 Median
- DO =3 G- 2 NP0
3. Mean= Mode — 2 Median
. D= TG - 2 0E§D0
4. Mode =3 Median — 2 mean
, 3°G =3 DGED0 -2 He
4. ¢

Question Number : 56 Question Id : 5244764856 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X 1s a random variable having pdf f(x). then E(1/ X) 1s
X @26 pdf fix) EOAD A5 )8 BOOHND eanes, E(1/ X)
3000

Options :



1. Geometric mean
Dardeded HRED

) o

2. Median
PRSI

3. Arithmetic Mean

§ 9855635 o0&

3,

4. Harmonic Mean
» S8 oS

Question Number : 57 Question Id : 5244764857 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X and Y are two random variables. then

X 208050 Y BO A5y )8 3800200 ) 0003, @)

Options :

1. E(XY)?<EX®) E(Y?)

1.
L2 E(XY)? = E(X?) E(Y?)
,x 3 BXYPF=EXY?)

4. EXY)Y2EX)E(Y)
4. ®

Question Number : 58 Question Id : 5244764858 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X is a random variable, then E(e'™) is

X @90 OGOy )E SO0 owe, E(e™) 08

Options :



1. Moment Generating Function

i SO0 2350e300 HoE S
1.
2. Characteristic Function
@800 HOE®
2.¥
3. Cumulant generating function
- Do &5 )08 HOE D

4. Distribution function
Lx DO HOES

Question Number : 59 Question Id : 5244764859 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X 1s a random variable having pdf f(x). then E(X) 1s
X @02 pdf fix) EOAD ASTHHD ) DOON2NO 0o, E(X)

GON0A
Options :
1. Geometric mean
- Barriedes e
2. Median
NV
2. % Tee

-

3. Arnithmetic Mean

98532638 DS

3.9
4. Harmonic Mean

PRV PRV

Question Number : 60 Question Id : 5244764860 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



E(L) = where “A’ 1s constant

E(L) = Q8¢5 N VOOTT 0LNOE
Options :
1. One
L x 8E3
2. Zero
- Q™)
A
3.9
4. ® 4. e

Question Number : 61 Question Id : 5244764861 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

V()= where ‘C” 15 constant
V(C) = 2888 'C' OO €50LN0E
Options :
I. One
_ 2,563
], ®
2. Zero
QO™
2.
3. A
3. %
4. o0
4, %

Question Number : 62 Question Id : 5244764862 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The ™ order raw moment 1s
1 &390 S0G S0

Options :

1. EX— X)
1.
L« 2 EX—Xy
Lo E(X)

4. E(X)
4. %

Question Number : 63 Question Id : 5244764863 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If X and Y are two random variables. the covariance between the variables aX+b and
cY+ dm terms of Cov(X, Y) 1s:
X 008G Y BO G598 300020 ) @ane, Cov(X, Y) D0
aX+b oD cY+ d 38050205 ) 60§ FDOTBD):

Options :
1. Cov(aX+b.cY+d)=Cov(X.Y)

1. ®

2. Cov(aX+b.cY+d) = abcd Cov(X.Y)
2. %

3. Cov(aX+b.cY+d)=ac Cov(X.Y) +bd
3. %

4. Cov(aX+b.cY+d)=ac Cov(X.Y)
4.

Question Number : 64 Question Id : 5244764864 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



The “Age” of employees in a factory 1s a random variable of the type

L0 B0 Q) GESEHO 'SODMNY @A 3578 TOED
A58 FOOND
Options :
1. Continuous random variable
- QB05S ASTHYRHE DBA2NS
2. discrete random variable
- AV8 AT )8 FOAH2NS
3. discrete as well as continuous
. DNE e9er DSBS

4. Neither discrete nor continuous

Lx OVE BT AB0BE0 5

Question Number : 65 Question Id : 5244764865 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let X and Y be two independent random variables. Which of the following statement is
not correct?

X S80I Y Bo D £650(¢h O3Sy ))E HdETrHen @ons, 808 ¢3S
DB SBHE 5

Options :

1. Cov(X.Y)>0
1.v

2. 1(XY)=0

2. %

LS

E(XY) = E(X). E(Y)

4. All the above
23903

4.%



Question Number : 66 Question Id : 5244764866 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

E (Y /X=x) 1s called the
E(Y/X=x) 290

Options :

1. regressioncurveof Xon'Y

Y 20X 0308y O 868

1. ®
2. regression curve of Y on X
XY G308y 8| 806
2. ¥
3. Both (1) and (2)
. (1) DO (2) DO

4. Neither (1) nor (2)
(1) B (2) 52D

Question Number : 67 Question Id : 5244764867 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The cumulative distribution function F(x.y) of two dimensional discrete random
rariable X and Y in terms of probability 1s equivalent to
D02 5eh DBOM AT TBeDIIO B8 AT )8 SOTH2NS X
B Y ABE), HODEd HoDES HoE.S F(x.y) 8 HDedT30.

Options :

. F(x,y) =P(0 <X < x0 <Y <y)
1. ®

2. Flxy) = Pl < X < x—ox < ¥ <)
2. ¢

3. F(x,y) = P(—0o < X < o0,—00 < Y < 0)



4 F(x,y) = P(0 < X < 00,0 <Y < x)

Question Number : 68 Question Id : 5244764868 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Let (X. Y) be a two dimensional random variable with joint pdf f(x.y). The marginal
density function of X is

503026 pdf fix.y) & (X.'Y) DO BHRIIS Ay )8 SOA02NS
900, X B0E). J7OIS BAIES H0ES .

Options :

1. F(x) = [ fxy)dx
2 Fix) = j;"f(x,y)dx

3. F(x) = [ f(x,y)dy
3. ¢

4 F(x) = [, fluy)dy

4. %

Question Number : 69 Question Id : 5244764869 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of co-efficient of correlation lies between
DITV0200 TBNEY E-D0AANO0E] DEND 0855 SOENOD.
Options :
1. 0to1

1. ®

!J

-ltol
2.

0tow

d

4 -ofpw®



Question Number : 70 Question Id : 5244764870 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The range of regression co-efficient is

BT 80 T3NEY, DB :
Options :
1. Oto1

2. -1to1

3. Otow

4 -oioow

Question Number : 71 Question Id : 5244764871 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If r =0, the two regression lines are to each other.
=0 90083, DO BN DO 2.8VEEES

Options :
1. parallel

- SISelaTelelon
2. perpendicular

- 00T

3. coincide
- DEZSDTON

4. none of the above
Lk 2R 5D

Question Number : 72 Question Id : 5244764872 Display Question Number : Yes Is Question Mandatory : No



Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The limits of multiple correlation co-efficient lies between
DHO FEBAR F-DDTNOED TZNE), HDONERIEN S0E8
CsOC° Q.

Options :

L v 1. Ol

I~

-1to1l
2. %

0toow

L]

4 -00to

Question Number : 73 Question Id : 5244764873 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

B.@ — @. then A and B are
(4) (er)

A OO B @3 DO Heared) oD, % = %. @95))CH A DB B
IV .

If for two attributes A and

Options :
1. mdependent
L Q550D
2. positively associated
PNEPO0NT D000 A S0tN0S
2. %
3. negatively associated
(23850 D000 EEOF 0000
3. %

4. no conclusion

S0 S

4.%



Question Number : 74 Question Id : 5244764874 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If for two attributes A and B.(AB) > %. then the attributes are
A DB B, (4B) > % €9 DO HETOBL 50T, @95 ©F 77w
Options :

1. independent

Q50| b
1. % ]
2. positively associated
APDBTOOMT 022000 3O G0N0
2.9
3. negatively associated
235O0 D000 EDF 50000
3. %
4. mno conclusion
S0B0S) S
4. %

Question Number : 75 Question Id : 5244764875 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The value of correlation coefficient is unaffected by
QDFO0206) HEIEO B30EY, e O° SO° (2327050 57D
Options :

1. change of origin only
S0 B3N, 237D 3T Hadd

12

change of scale only

05O 307D S0 ha

2. %



3. change of origin and scale

AP0 DB AN YO D)
3.9

4. none of the above

2e30) 57

Question Number : 76 Question Id : 5244764876 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The numerical value of co-efficient of contingency
382028 8o A3y OIS e

Options :

1. lies between 0 and 1
0 DB 1 NS TFOLNOED

1. %
2. never attains the value 1
DN 1R DD)E3E oS
2. %
3. can never be negative
o)) )3T O E50CHEICHCD
3 %
4. all the above
2358
4. 20

Question Number : 77 Question Id : 5244764877 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kruskall-wallis analysis of data meant for

3y 3308, 1300, -0 DB 50 SBR0IDE0E

Options :

1. Three-way classification
S0°Ch-030° 00 08B



2. Two-way classification
BOCR-37700 508Sea
2. %
3. Omne-way classification
58-S %0858
3.
4. non classified data
e Q800 Ter

Question Number : 78 Question Id : 5244764878 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equivalent non-parametric test for independent t- test is
D .5650(€9 t- HOE B0 DTS T R-ar0 €35 DS, .

Options :

1. Mamn — Whitney U test
DS - DeEI) o HBE

1.+

2. Wilcoxon signed rank test
e 83Q 0508 HOE D HOBE0 TR0

2. %
3. Kruskall — wallis test
B S - O HBS.
3 %
4. Mcnemar test
PPN EAP s BTl |

Question Number : 79 Question Id : 5244764879 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Most of the non-parametric methods utilise measurements on
-0 0|35 DN T BB §erederdd
T30 O3 ROTNEV0EFT .



Options :

1. interval scale
)TN0 (eI

1. %
2. ratio scale
. QDA (DTEIO
2.
3. ordmal scale
305D D0
3.9 -
4. nominal scale
0%000007°(€960) (006T*EAO
4. %

Question Number : 80 Question Id : 5244764880 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What percentage of values is greater than 3™ quartile?
355 5250 S0 QO F°EHO0 NN DBV IT 5 ON?

Options :

1. 75 percent
| % 75 3°¢50

2. 50 percent
5 % 50 "0
3. 25 percent
) w
3@ 25 3°ed0
4. 5 percent
L% 5 3°€50

Question Number : 81 Question Id : 5244764881 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Standard Error of the sample s.d is
Qe 5.d B3E), (BTSTESE S0

Options :
1. % l.o
2. sqrt(c?/2n)
2.v¥
3. 26°
3. %

4. squt(c*/n)

Question Number : 82 Question Id : 5244764882 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If T 1s an unbiased estimator of the population parameter O, then Bias of an estimator
must be

T 230°2)° 0%0e © A30E) Aar )88 @0timrmth @one, 2.8

e90TITTI D O3NEY &0 €50 )R &omd).
Options :
1. Positive
- ar23e30

2. negative

De385Te)
2. % g
3. either positive or negative
. T3¢0 BT° SHE3D
4. zero
VR

Question Number : 83 Question Id : 5244764883 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following statement is true?
806 ¢3S DA JB0?

Options :
1. 'When sample size increases. standard error will decrease

ST DBTEI0 OB, (BFSTe3E S0 BHAOE
v

)

When sample size decreases. standard error will decrease

5607%0° IBSTEIO 515 IER. (aTe7eSE 5700 eSO
2. %

3. When sample size increases. standard error will increase
ST DBTE20 OASYIER, (FS37e3E 0 DAHEA0E
3. %
4. sample size and standard error are not related.
s30T DBSTEI0 DO |5TSTEFE S0 H0220850 BN,
4.%

Question Number : 84 Question Id : 5244764884 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum likelihood estimators need not be :
58 D258 90T 52909050 B.

Options :

1. unbiased
. Q)8 areto
1.

2. unique

2. % ;Dgé

-

3. consistent
OB



4. all the above

DO

4. v

Question Number : 85 Question Id : 5244764885 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Factorization theorem of sufficiency is also known as
DY TN, arEEBBAM® VP OTTR), ONETTE® 0L
Options :

1. Cramer — Rao Inequality
5700 - T @0e37700eh

1. ®
2. Rao — Blackwell theorem
%Y - PEIO DPT0eH0
2. %
3. Cauchy — Schwartz Inequality
0 - 7 50, @90557d¢h
3. %
4. Fisher — Neyman theorem
v 2D - BITS DT°0H0

Question Number : 86 Question Id : 5244764886 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Neyman — Pearson Fundamental lemma, which of the following term will be
involved?
TS — DONBIS DOBOEIS B, 80 a7¢3S” DA A0

€s0LNOE?
Options :

1. UMP test
UMP 508



2. E-1est
F-583
2. &
3. UMPU test
UMPU D88
3. %
4. MP test
MP H8%.
4.

Question Number : 87 Question Id : 5244764887 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rejecting Ho when Hp 1s true. 1s called

Hp Q230 €9003a) )8 Hod) €380 80055 €90E .
Options :
1. TypeIErmor
v T I B0
2. Type I Emror
BV S’HO
2. % ==
3. Sampling Error
0 90
3. %
4. Standard Error
L Br3eS8 S0

Question Number : 88 Question Id : 5244764888 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Accepting Ho when Hp is false. is called
Ho €55))) 900c5).)¢% Hod @0REB0TIC0 90T

Options :



1. TypelI Error
BV IS Ho

2. Type I Error

DD I SO0
2.¢
3. Sampling Error
o Su'
AT® A DO
3. %

4. Standard Error
eSS S0

4. %

Question Number : 89 Question Id : 5244764889 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Size of the critical region 1s
SN (27050 O30} 2180

Options :

1. 1-P[ Type II error]

1. %

2. 1-P[ Type I error]
2. ®

3. P[ TypeIerror]
3.9

4. Power of the test

HOE, A3y, 48

4. %

Question Number : 90 Question Id : 5244764890 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



H: © = 6y 1s an example of :
H: 6> 6, 906 8 SO0

Options :

1. simple hypothesis
IO 880y

2. composite hypothesis

oo 203 S

2.

3. statistic
s Hegroseen)

4. sample
NIV

Question Number : 91 Question Id : 5244764891 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

1- P [ Type II error] is
1- P [ Type II error] 0T

Options :
1. Level of significance
- (eI EH J°OW
2. Size of critical region

80 2050 D870

2. %
3. Most powerful test

9655065 383506500 8.

3. %

4. Power of the test

HOE Bng), 48

4. v



Question Number : 92 Question Id : 5244764892 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Index numbers can be expressed

QIS QO EEON T 00558003970
Options :
1. 1nratios
DS’
1. ®
2. 1n terms of absolute value
DOY"Y Densd NBoe
2. %
3. in percentages
TS
3.9
4. All the above
FAISENN)
4, %

Question Number : 93 Question Id : 5244764893 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which 1s one restrictional design?

2,8 HOE BBS DO?

Options :

1. Completely Randomized design

O 0O BB
1. %
2. Randomized Block Design
OO 25 BB
2.¥

3. Latin Square Design
e>¢3S 050 BB

3. %



4. Split - Plot Design
OIS - D BB

Question Number : 94 Question Id : 5244764894 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Design of experiments. the repetition of treatments 1s known as
DABFTTE BHEE IR, DEB YO )ITeI)e50 90EFED

Options :

1. Local Control

i RN ovWell T
1.
2. Randomization
OO NBNAD
2. %
3. Replication
Lo DBET0
4. Experimental Error
L DCTesE 700
4. -

Question Number : 95 Question Id : 5244764895 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In Index numbers. Py; X Pig =1 15
A0S Do, Py X Pip =1

Options :

1. Unit test
A DB,

1. ®

2. Time reversal test
B 8IS YO Bow



3. Factor reversal test

55 898D HOE.
3. %
4. MP test
) MP H88

Question Number : 96 Question Id : 5244764896 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

NSSO means
NSSO 90T

Options :

1. National Statistics Survey Office
RASSD F¢3VT Y DV eI

1. ®
2. National Sample Swrvey Office
27305 DT OB § TT°5ANO
2.¢

3. National Statistics Survey Organization

BASSD e3VE) 0§ S8OTZAD

4. National Statistics Office
20N HeTosTe SO°$OAN0

Question Number : 97 Question Id : 5244764897 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Central Statistics Office was started in India in the year

2353306 OIS e3NE ) e (BrPE00DDB0E
Options :

1. 1951
1. ¢

2. 1961



3. 1972

4. 1952

Question Number : 98 Question Id : 5244764898 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Vital Statistics mainly deals with

8028 HETOSTEN (DO & 9595 OT 0.
Options :
1. births
2300007
1. %

2. deaths

- SOETEN
3. marriages
)oXae)
3 %
4. all the above
2550
v FALVIVA]

Question Number : 99 Question Id : 5244764899 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The National Statistics dav is

22SBOD 0T OS5 3650 .

Options :
1. 15 August
1 15 e305e
2. 29 June

5 E



3. 20 October
L« 200820

4. 14 November
14 550200

Question Number : 100 Question Id : 5244764900 Display Question Number : Yes Is Question Mandatory : No
Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Chi-square test 1s used to test
DO O0TRVE -2 50 HBE. SIOTFAOTICRROA.

Options :

1. Goodness of fit
OB OSSO0

2. Independence of attributes

) & 70 AP LeB0(e550
3. Equality of several population variances
DT B2 SITEIE) ATIEH (O
3. %

4. All the above
RE)

4.



